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LEGI‘I"Iiﬂg‘ | could teach A BTHE s il Not there,
March 18-3l, 2020 e . @& =

Day I: March 18™
Objective: | can find the area of a triangle.

Day 2: March 15
Objective: | can find the area of a parallelogram.

Day 3: March 20%
Objective: | can describe two quantities at the same time.

Day 4: March 24™
Objective: | can choose how to use unit rates fo solve problems.

Day 5: March 25™
Objective: | can multiply fractions and mixed numbers.

Day b: March 26t
Objective: | can divide fractions and mixed numbers.

Day T: March 27
Objective: | can add and subtract decimals.

Day 8: March 30™
Objective: | can use long division to divide whole numbers that resutt
in a whole number quotient.

Day % March 3
Objective: | can mulfiply decimals.

Day 10:
Objective: | can find the volume of rectangular prisms.

Day I
Objective: | can find the mean and median of a data set.




W W Ares of TriaNgles

StaNdaRd : WA Find the area of right triangles, other triangles, special quadrilaterals, and polygons by composing info rectangles
or decomposing into triangles and other shapes; apply these techniques in the context of solving real~world and mathematical problems,

(NI T con find the area of a triangle.
WdRM Study your multiplication facts! Focus on your 5's today!

HewW €@ & Ghe fhe Cred 02 @ fricneie® b x h + 2

Video for extra support: https://www.youtube.com/watch?v=xCdxURXMdEY

Example 1:

1. Identify the base and height=> b: 22 h: 10
2. Multiply the base and the height 22 x 10 = 220
3. Divide'by 2..220 = 2 =110

Area = 110 m?

Example 2:

1 Identify the base and height=> b: 11 h: 4

2. Multiply the base and the height 11 x 4 = 44

3. Divideby 2 444 +2 =22 i L
Area = 22 ft2 11

145k First, identify the base and height of each triangle. Then, find the areo.
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135k Answer each question. Make sure you explain or show your reasoning.
1 Draw and label two DIFFERENT triangles that each have an area of 24 units?.

2 SelechialI of the ’frion@es Eﬂno;r have an area of 8 unl’rsé.
) T T

3, Kshe\F‘ is the shape of o.h."io.ng'.e. The bose of the shelf is 36 centimeters and the height is 18
centimeters. What is the area of the shelf. (Draw a picture if you need help.)

+45k Core students choose 1 of the following. Gate students must complete bothl

Op.'hO'(\. *: Match each triongle to the area. Colon ﬁ: Ploy the quizizz using the

code below. Maoke sure you use your

5 i Aver 31 i liidha FIRST AND LAST NAME!
/ 15 units?
/ . Menhenett:
20 units? ) -
] 1.—.5,1? }’.‘--ﬁi’?i{sjﬁsﬁﬂi{i 1o open
jf !; et joinmyquiz.com
: i . I ] and enter this code
. 12 units? :
SVRRRESNY 5 = 320191
R £
; > - 60 units? Howard:
G
/ £t -3 125 Ask participants to open
ra Y units? : :
- ; i joinmygquiz.com
i ® o / 245
E 7 s = \\ . units? and enter this code
/ H Y I/ & units? 4 6 9 2 0 3
Mot drawn to scale .

FERIY) GRPICRINGRTE (optional for extra credit)

Complete the “Order Up Area of Triangles™ Activity. (Scissors and Glue required)
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©z014 Created by MrHtughes. Copying for a single classroom granted to purchaser.

(Student Sheet- Cut & Paste for Order Up! Finding the Area of Triangles Set 1)

Students: Cut apart each strip and complete the activity.

If the area of this triangle is 20m* .m
and the base is 10m, what is the i 1
height? Show your work!

Iom

To find the area of a
of use the formula (bxh)=2

height

base

t 112.5 m?

Find the area of the following
triangle if the base is 12 cm and the
height is & cm. Show your work.

base

triangle

Find the area of the
following triangle. Remember & 1
to show your work!

30cm

40 m?

Find the area of the following
triangle if the base is 20cm and the
height is 10em. Show your work.

14BI3y

base

150>

Find the area of the
following triangle. Remember 3
o show your work!

4m

In Your Journal
Explain why you divide the product of the base and the height in half when
finding the area of 2 triangle. ®e sure to draw a picture to help support
your explanation. Be prepared to share with 2 partner when instructed.

36 cm?

Find the area of the following
helghl triangle if the base is 8m and the
height is 1om. Show your work.

asbg

Write, then Share

Z» QO

YOU FINISHED!

100 cm?

P = o e o e e e e e e e e e e e e e e e

= Find the area of the
3 following triangle. Remember
to show your work!

13m

©2014 Lreated by MrHughes. Copying for a single classroom granted to purchaser.



ﬁﬁﬁ ﬁ ArREl of Parallelograms

STQNJQRJ M GGAILFind the area of right triangles, other triangles, special quadrilaterals, and polygons by composing into rectangles
or decomposing into triangles and ather shapes; apply these techniques in the context of solving real-warld and mathematical problerns.

IINIHAEANIM T con find the area of a parallelogram

6Ex1 = 6
IEIN (BB Study your multiplication facts! Focus on your &'s todayl - N——
6x2 =12
The area A of a figure is the number of square units enclosed by the figure. S,
Parallelogram Bx3 = 18
FOW PO &« Fihel the ARG O3 A REPalcIoE)PCnng o
1. Identify the base and the height of the parallelogram. f: h :f 6 : 4: i
2. Multiply the base and height of the parallelogram. 6x5 = 30
\ 7 in. b - e
Example 1: A4 = {y B T 6x6 = 36
b . A= bh B G
= 76) Sin. | 6x7 = 42
= 3% 1 2 "“‘z §“* e e o
= 351n. 6x8 = 48
Example 2: Multiply the base of 12 cm X the height of 7cm. 7cm G g ..=,, —
The area of the parallelogram is 84 square cm. 12 ém 6x10 = 60
84 e 6x11 = 66
6x12 = 72
[N Il Tdentify the measurement of the base and the height. Then, calculate the area of
the parollelogram.
[ ] | BASE:
.| | HEIGHT:
AREA:
i BASE:
Ao 1 HEIGHT:
[ f’( AREA:
X BASE:
i HEIGHT:
. —i= AREA:
+d5k Describe and correct the error in finding the
area of the parallelogram. A= 8(15)

13m =120 m?




+ 35k Solve (Be sure to include the correct unit)
1. Marco's family has a garden shaped like a parallelogram. The height of the paralielogram is 7 feet and its
base is 14 feet. What is the area of the garden?

2. Brianna won a parallelogram-shaped trophy. She knows the area of o parallelogram is 735 cmz and that
its base is 35 cm. What is the trophy's height?

3. Maya hos a piece of fabric in the shape of a parallelogram. Tts height is 12 feet and its base is 18 feet.
She cuts the Fobric into four equal parallelograms by cutting the bose and the height in half. What is the
area of each new parallelogram?

,...-————_..___....-.—___—_____.—_-—__——__—__...u—u-___—._______.—a———————_—___.——___—_._-__....-—-n-———————-_-.—-.-—_

JOURNILMONTRY

What is the difference between finding the area of a parallelogram and a triangle?

145k Core students choose 1 of the following. Gate students must complete bothl

Option * Complete “Parallelograms, Triangles, and Trapezoid Word Problems Create the Riddle Activity®

Option )2 ¢ Play the quizizz using the code below. Make sure you use your FTRST AND LAST NAME!
Menheneﬂ: Ask perticipants to open Howurd: Ask participants to open
joinmyquiz.com joinmyguiz.com

and enter this code enter this code

6050209 392876




Parallelograms, Triangles and
Trapezoid Word Problems

Name:

Create the Riddle Activity

" BUT OFFICER, [ WAS
ONLY DOING 15,0C0!"

Find the area of the figures below to create ariddle. Then, scan the QR Code to answer the riddle.

1
What is the area of the region shown
on the map? Round to the nearest
tenth.

2
A family has a flower garden in the
shape of a parallelogram in their
backyard. They planted grass in the rest
of the yard. What is the area of the
backyard that is planted with grass?

Backyard

b4

I; g e

3
An architect is designing a building on a
triangular plot of land. What is the cost
of the building if it is $20 per square
foot? Round to the nearest dollar.

What is the area of the triangle on the
flag of the Philippines in inches? Be
sure to check the dimensions ...

5
A play tent is shown. How much fabric
was used to make the front and back of
the play tent? Be careful ...

o 29 i

6
The diagram shows the lawn that
surrounds an office building. If one bag
of grass seed covers 2,000 square feet,
how many bags are needed to seed the
SR |
100 ft

1,904 in?: bed

4 bags: disguise

4,470 ft? : will

540 in?: wear

$194,141: what

2,985.9 mi?: the

952 in?: pillow

2,895.9 mi?: can

8,940 ft2 : did

5 bags: cape

$97,070: why

45 in? : carry




ﬁﬁﬁ ﬁ Ratios

SETEEIREE crPA1 Understand the concept of a ratio and use ratio language to describe a ratio relationship between two

quantities. For example, “The ratio of wings to beaks in the bird house at the zoo was 2:1, because for every 2 wings there was 1 beak.”
‘For every vote candidate A received, candidate C received nearly three votes*

IINAEIRIE T con describe 2 quantities at the same time. Ixt= 7

WARM Study your multiplication facts! Focus on your 7’s today! 7%x2 =14
The ratio of your monthly allowanee to your friend’s monthly 7 X 3 = 2 1
K allowance is 5 : 3. The monthly allowances total $40. How much is
Ratio each allowance?
Words A ratio is a comparison of two quantities. Ratios can be To help visualize the problem, express the ratio 31 3 using a tape diagran. 7 X 4 — 28
part-to-part, part-to-whole, or whole-to-part camparis'cms vou [ I B ] -
0 Sak I T
Examples 2 red cravons o 6 blue crayons U 3;:?33?;0 : o
1 red crayon for every 3 blue crayans § g Yourfriend [T [ ] ]+ 7x5 = 35
3 blue crayons per 1 red Crayon §' Because there are 8 parts, you know that | part represents $40 + § = 35,
3 blue crayons for each red crayon i? » = =
5 i 5 parts represent $5 » 5 = 525,
3 blue erayons out of every 4 crayons ;.i " . ? 6 - 42
2 red crayons out of 8 crayons g 4 § 3 parts represent $5 + 3 = $15, Xb =
Algebra Theratioofato becanbewritenasa:h. & ;@3 & i So. your monthly allowance is $25, and your friend's monthly
e = * allowance is $15.
: 7x7 =49
You mix 3 pints of yellow paint for every 4 pints of blue paint to make 7x8 = 56
green paint. You use 10 pints of blue paint. How much green paint do B
you make? 23 X5
¥ 5 s
ol 7x9 = 63
The ratio of yellow paint to . 3 [ .1 ;
blue paint is 3 to 4. Use a ratio Yellow (pints) | 3 | = | 7; _
table to find an equivalent ratio P > il 7x10 = 70
with 10 parts blue paint. A 2 ! T
N AN
+1 %5 7 X '1 1=77
You use 7; pints of yellow paint and 10 pints of blue paint.
: 7x12 = 84

138k Write 3 ratios that describe each situation. Determine if the ratio is o part:part or a
part:whole comparison.

+d5k Find the missing values in each ratio table.

Boys 1 Violins 8 24 Taxis 5 36

Girls 5 10 Cellos 3 Buses 5 15

Burgers 3 9 Towels 14 7 Forks | 16 8
HotDogs | 5 10 Blankets | 8 16 Spoons | 10 30

+d5k Complete the Ratios and Proportions Menu Choice Board
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wWersk W UNGt Rate

CHAMN

reasoning about tables of equivalent ratios, tape diagrams, double number line diagrams, or equations.

IINIASHEREE T con choose how to use unit rates to solve problems.

Study Multiplication Facts. Focus on 8's today!

ER0PE hels
https://www.youtube.com/watch?v=RQ2nYUBVvql

Example 1:  words A unit rate compares a quantity to one unit of the
other quantity.

Numbers

B 2T
3 pizzas

Example 2: In a jalapefio pepper-eating contest, a contestant eats 70 peppers in
3 minutes. Write a rate that represents this situation.

"

70 peppers «—, {iss o i

Rt = 3 e p——
e e <
| minutes |

=+ A rate ISMEE'}.

* 3 minutes
@ On Your Own
1. Acontestant eats 55 peppers in 4 minutes, Write a rate that
represents this situation.

Example 3:  Which bag of dog foed is the better buy? Explain.

$17.20 o $0.86 $33.60 . 50.84
20 pounds 1 pound 40 pounds 1 pound
\\\_- _/,’
+ 20 = 40

i+ Because $0.84 is less than $0.86, the 40-pound bag is the better buy.

8x1
8x2
Sx.3
8x4
.8x5
8x6
8x7
8x8
8x9
.Bx‘iO
8x 1

8x12

HERIR CRP.A 3 Use ratio and rate reasoning to solve real-world and mathematical problems, e.g, by

i

]

16
24
32
40
28

56

72
80
88

96




Identify the question that is different.

What is the cost per bagel?

What is the unit cost of a bagel? |
What is the cost per dozen bagels? |

How much does ea_e-l.z.bagei cost?

Find the unit rate for each situation.
$28 saved in 4 weeks __ inlweek
270 miles in 6 hours Ll it Bowr
2520 kilobytes in 18 seconds in 1 second
1080 miles on 15 gallons _ inlgallon

LIGHTNING Lightning strikes Earth 100 times per
second. What is the rate, in strikes per minute?

1. Bryan's mom spent $46.20 filling up her gas tank. If her gas tank can hold 12 gallons of
gas, how much did each gallon cost?

per gallon

2. Morgan ran 5 miles in 57 and a half minutes. How long did it take her to run each
mile?

minutes per mile

3. Mrs. Howard bought é books for $53.94. How much did each book cost?

per book

+45k Complete the “Let’s Go Shopping” Activity




Name: #:

Date: HR:

| Let'sgoshopping! |

Directions: With your team, and in the given time, walk around the room
and compare the 2 advertised prices. Determine which the better buy is.
Show all math work below.

ltem

Math Work

McDonald’s
Chicken Nuaggets

Opples

Colored Pencil




Cookies

Donuts

Juice




00'%2$ Jod sa0mnl' 9 gmd&cﬁ

00°9G$ I0J SOT000 8 :SOWY SNOWE

00°0%$ 404 90l 4 :PTEN S1NUIA

00°2%$ 404 $9R{000 ), :RK0UY dIUD

N L IueId

00'81$ J0J 9 : 00D BUISTdd

00°98$ 404 6 :BIOABID

S[IdUdd PoJI0I0D

00'81$ J04 Sotdde 9 :poo ] Ko

00'%2¢$ 404 Sordde T :UMO0L-9

sojddvy

SIIY 00D

00708 J04 $9988NU 9

00'91$ .é mp@mmé 'z

S, ﬂmﬁﬁcﬁﬂi

. oo mﬂw uom mp:m% o))

7 %E%

oo 2% pom mpzaoﬁ cmm.o@ ﬁ




ﬁ’ﬁﬁ ﬁ MultiplyiNg I'RaCtioNs

StANJddR d : SN Apply and extend previous understandings of multiplication to multiply a fraction or whole number
by a froction.

ISNIAORERIE T con multiply fractions and mixed numbers.

WaRM Practice Multiplication Quiz (5-8). Time yourself for 1 minute and see how many you con

answer.
8 2 1 1 9

w 3 ® 0 ®x 1 ® B w2 b

L i
(A
f M)
0]
ok

i
s
o
53]
fad
Lk
b
B
s
e

g ALY
Bt
ot

S
n ]
Lre
L |
o
L |

HoWw bo Yeu MUlTiplY) FirecTionss
1. Make sure all numbers are written as fractions. - gg}& Cﬂf?ffg?f and Vﬁi{%bﬂiﬂf‘y‘ TN

—All whole numbers e
~Mixed numbers turned into immproper fractions §ﬁl‘_ﬂ"§3§;?‘_@Efam’_s‘ /
2. Multiply the numerators 1 2.3 ;3 -
Subsidieh 15
3. Multiply the denominators T
( Multiply denominators. |
4. Simplify the product, if needed. | Multiply {iem}fﬂ .ai. -
T ¥R W S -
. e
Example 2 Find 5z ..
g 2°3
1 3_11._3 o 6
g.é..q:i»m ....jw.jé» Rewrite 5§55u§w
_11+3 Aultiply the numerators.
2.4 Multiply the denominators.
a3 1

ord-  Simplify.




+dSk Find the product.

e s 1 4 1
*wsdigusdy e el

A HllFind the area of the rectangles and parallelograms.

. 8.5
. = in.
we ft < 0
5 ! - A
+d5k Answer each question in the second column.
Problem Response (Show Work)

Kaylee and her mom went to

the craft store to buy supplies

to make a costume for Kaylee's
school play. They needed 3% yards
of gold fabric. If each yard costs $4,
how much will 3% yards cost?

They also needed ribbon for the costume. Each
spool of ribbonis 10 % yards long. If they buy
3 spools, how many yards of ribbon will they have?

They had to get 2 packages of buttons for the
costume. Each package of buttons weighs 5:33?
ounces. What is the total weight of the 2 packages
of buttons?

$35k Choose 1 of the following options.

Option *:Pla\' “Super Six* Multiplying Fractions Game

*Parent signature on game board required for credit*

Option ﬁ:MuHip\\ging Fractions Color by Code
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Yt % DividiNg FractioNs

STANJARd : AN Interpret and compute quotients of fractions, and solve word problems involving division of fractions by

fractions, eg. by using visual fraction models and equations to represent the problem.

(ISVIARENIAE T con divide fractions. 9x1 = 9
I TPE Study your multiplication facts! Focus on your 9's today e
9x2 = 18
HMOW CI0 & CHYICI® FIPGGHONSE > Multiply by the reciprocal | . _. . . _._._. » 9x3 = 27
Video for extra support—> https://youtu.be/4lkg3DgvmJio | Wineli §8 @ 1 ' 3
Example 1z ; ?@@ﬁ}@?@@@ﬂ? 9x4 = 36
. Fraction Reciprocal - S— ,
Dividing Fractions b ik ! 9x5 =45
Words To divide a number by a fraction, multiply the number by the - N R ——
reciprocal of the fraction. I . : I Ox6 = 54
13 1.4 - - R
e B e W 1 >4
Numbers -+ S Sh =GR = B3
S R sl Lo
B i
| =
Example 2: l l , 9)( 8 \ ?2___
Find - + 2. N PP | e = B
9x10 = €0
é = i - :3 » ? Multiply by the reciprocal of i which is i i
6 2 - g 9x11 = 99
oy i i SR S
& Multiply fractions. Divide out the common factor 3. 9x12 =108
.l
1 3.
== Simplify.
. mplify
+d5k Find the quotient.
1.1 5 2
C 57 %
g + 6 L 4
{ 25
. APy
9 108
MATCHING Match the expression with its value.
2 8 . B 2 2 ,
= == Sp it g == . — ? . §, =8 Mg;
a 15 15 5 15 5 5 15
1 3 :
— B. 2 C 12 D. 1
12 4 3




RHEW €@ &S cfiVicl® Mfiee] RUNMBDGSPSE - Convert to improper fractions and multiply by the

reciprocal.

i&ewzite as improper fractions. \§ 1. 5+g£ﬂ§+§ﬂix§g2
e J, .L £ - SO | L/ R
3 21 e Y AN R e S

5..1 1 238y 23 " K 1
= e W 3 4M—Emmm-ﬁmwhmwm'mﬁmm2ﬂx
2 5 6 3 £ 6 ool
1 ;

L Y 3 1 3 1.3

+dSk find the quotient.

4i+§ﬂ Sgésﬂ_
2 i
L. 32+31=
3 5
1,-};m i—}_im
5_§T.§_ > 5T -

$dSk Choose 1 of the following options.

Option * Play “Super Six” Dividing Fractions Game

*Parent signature on game board required for credit*

Option . Play the quizizz using the code below. Make sure you use your FIRST AND LAST NAME!

Menhenett: Ask participants to open Howard: Ask participants to apen
Jomnmyquiz.com j{ziﬂm}{qu iz.com

and enter this code S

628146 043322




A Dividing Fractions Game

5
7

| ot

—_
~

N R | U] e

Ul - N’
| N = | CO] 7o

ok
Do

How to Play

Player (is blue and Player 2 is red.
Player [rolls the dice. Player [ matches up
the dice with the corresponding humbers.
Make sure to use one number from the Roll
[ Group and one number from the Roll 2
group. Roll | is divided by Roll 2 (Roll [+
Roll 2). Player 2 will complete the same
problem in order to check Player [’s work.
If Player |is correct, then he or she will find
the quotient and color it in. Player 2 will
repeat the process by rolling the dice and
finding the quotient of the two numbers.
Player [ will also complete the problem to
check Player 2’s work. The first player to

get 6 in a row is the winner.




WYY W Adding aNd SubtractiNg Decimals

STANJ AR d : AN Fluently add, subtract, multiply, and divide multi-digit decimals using the standard algorithm for each operation
ISV ENEA T con add and subtract decimals.

(VBB Study your multiplication facts! Focus on your 10s today! _ 10 X1 - 10
10x2 = 20
oW c@ You delel anel SUBTPECT CIGCImMES? " 10 x '3' _ 3{} '
228 Line up the decimal points333 D ool D
Video for extra support->https://voutu.be/kwh4SD1ToFc S —
10x5 = 50

~ Key Concept and Vocabulary —

; 10x86 = 60
5.7 12.72 Add?ﬂg t@ﬂd - L
e Subtractin
+3.36 —3.84 @ 10x7 =70
, 2, o o
9.06 8.88 IR
! T Cipsa=an
. Align on decimal point. E 10x9 = 80
. i 10 x 10 =100
10x11 =110
IENA [l Find the sum or difference. 10 x 129%=420
475+ 356 57-481
1125 + 245 207 =124

24+ 204 34+56-23




+dSk Answer each question. Be sure to explain or show you reasoning.

1. You toke $20 to the store. You buy a magazine for $3.65 and a birthday card for $5.29. How

much money do you have left?

2. What is the perimeter of each triangle?

37 cm

+d5k Core students choose 1 of the following. Gate students must complete bothl

Option * Complete “Decimals Maze Activity”

Option . Play the quizizz using the code below. Make sure you use your FIRST AND LAST NAME!

Menhenett: Ask participants to open Howard: Azk participants to open
joinmyquiz.com joinmyguiz.com
and enter this cods and enter this code

700294 165874

FEmiY) GrFiChnn@hd (optional for extra credit)

Play “Race to the Finish® Adding and Subtracting Decimals Game.

To receive extra credit, parent must sign game board.
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ﬁﬁﬁ ﬁLONg DivisioN

quotient

6NSB.2 Fluently divide multi~digit numbers using the stondard algorithm.
I coan use long division to divide whole numbers that result in a whole—number quotient,
and multiply the quotient by the divisor to check the answer.
Study multiplication facts! (Focus on 11's todayl)
STERS O PiVIcHnG) USing) LORE) PIVISion

_ Daddy (divide)
L k
B 2)0%
| ..

LbE2=73
i I“[omm3 {multiply)
ﬂfj {aﬁ

BR2=0
o « !

Sister (subtract)

S
2708
w7
0
" Brother (bring down)
e
2.3 la o
- {4
0% ':v"k
Rex (?ema:nda!‘} 270

o2

4 Coco@ (check answer)
~* 34 x 2 should = 68!

[¥NA A Answer question o, b and c.

The "anatomy" of a
long division problem
479 — 7. = 68:3

Quotient
108 0% s

Ny Remain

pivisor” ., 7 w

Remember!

b. What does the subtraction of 7 from @ mean?

c. Why is a 1 written next tothe 2 from 9 — 77

divisor ) dividend

er

3 a. Thereisa 7 under the 9 of 917. What does this 7 represent?
1

1x1 =1
”’E‘I x2 = 22
_.__ﬂ x3- : 33
M’H x4"= 44
‘[1 x5 = 55
.".11 X 6. = 66 :
7‘]1 X7 = 7‘?’"
1x8 = 88
| 11 x9 = 99
| 11 x ’fO. = %10
’51 X 11 = ‘12’27

Divide Multiply Substract Bring down 11 X 12 = 132




Han's calculation of 972 = 9 is shown here.,

b. Use your calculation of 180 + 9 to explain how you know Han

180 a. Find 180 - 9.
9 [972
e 7 2 has made a mistake.
-7 2 c. Identify and correct Han’s mistake.
0]
-0
)

I¥NA BB Find each quotient
a. b.

+43k Choose one of the following options.

Option ) ¢ Complete “Snack Attack” Long Division

Option ¢ Complete “Long Division-Create Your Own”




SNACK ATTACK!

b5 time to review the Gdles Report for last weeks
%ame! Uee the images and chart below to determine
ow much of edch item sold during the game.

Pretzels
Nachos
Churros
Candy
lce Cream
G0da
Yopcorn
What i& the most populdr item at your stadum?

_ What about the least popular?

Copyright © 2070 Christing Cinfio dll rights reserved by authoe




r ] EETEER u s u =R o EEEE | o] | i) | 28] ] BT | SR

Long Division
I Create Your Own

i In the space below answer the following questions. I

1. Define what it means to divide.
I 2. Create a division problem with at least a 4-digit dividend and a 2-digit dividend. Labelthe m
i divisor, dividend, and gquotient.

3. List the steps of division as if you were teaching someone. I

L 4. Create 3-division word problems and solve them.
| BT | | et ] | | |cce] | | iz | | ) | [y | |z2uees] | | RN | P




WSl S vutipiying Decimais

STAINJAR J : AT Apply and extend previous understandings of arithmetic to algebroic expressions 6.NSB Compute
Fluently with multi-digit numbers and find common factors and multiples

(ISNIARERIM T con find the products of decimals. 1258 =12
1Z%2 = 24
WdRM Study your multiplication facts! Focus on your 12's today! 12x3 = 36
FOW cl© it MUIIFHRIY) ceCinneliSy 12x4 = 48
_ 12x5 = 60
Video for extra support: https://youtu.be/kwh4SD1ToFc i
12x6 = 72
Examples: e
i MRS Estluigiten g o 50 b. Find3.1 x 0.05. Estimate 3 x 0= 0 12x8 = 06
4.8 = 1 decimal plac st i
S e Y ;zz,;,z,i; 3.1 =———  1decimal place 12x9 =108
95 X005 «—— + 2 decimal places y
336 0155 =—— 3 decimal places 12x10 =120
3456 = 2 dedmal places
. = 2
. 2 S, 3.1 X 0.05 = 0.155, Heasonable? 01550 t/ 2y L
=+ 850,48 X 7.2 = 34.56. Reasonable? 34.56~35 v/
12x12 =144

+45k Estimate each problem first. Find the product of each.

Find 81 x 56 Rind 2.7 % 904 Find 652 x 0.09

Find L8k % 0.2 Multiply 1.89 x 2.75 Multiply 1.78 x 4.9

+d3k Answer each question.
1. Tomoatoes cost $1.29 per Ib. You buy 2.75 lbs. of tomatees. You hand the cashier $10, how
much change do you receive back?

2. Place the decimal point in the correct place in the problem.
1.7 8 924

375
»% 4.9 X 068 X 527
8722 62832 195750




$38k Core students choose 1 of the following. Gate students must complete bothl

Option *: Solve the following problem.

A rectangular painting has an area of 952 sq, ft.
o. Draw 3 different ways this can happen.

b. The cost of the frame depends on the perimeter of the
frame. Which of the 3 you drew would be the cheapest.
Explain your reasoning.

¢. The thin black painting costs $1 per foot. The fancy
framing costs $5 per foot. Is the cost of the fancy
framing five times greater than the less expensive
framing? Explain your reasoning.

Option ﬁ: Play the quizizz using the
code below. Make sure you use your
FIRST AND LAST NAME!

Menhenett:

Joinmyquiz.com

e hie

and enter this code

506854

and enter this cods

824700

FEmnilY) GRPICHhINGNTE (optional for extra credit)

Complete the Math Ad for multiplying decimals.




Bl ' Ma+h Ad

Concept:

Tllustrate your concept here.

fDEScribe +heé concept here: \

Tell why it is import+ant
here:

where is it used in the
real world?

1 ; Rules i

: 1.  Choose aconcept and !

I set it approved.

Z. Createanadthat will

"sell" your product.

I 3. Tellwhy it is useful

. and necessary for

i math. Seil your

g audience on the

! uniqueness and

i usefulness of your

I concept.

I 4. Ifyoucan+think of I

: places that +he ’

| concept isusedinthe |
‘realworld® you should

mention them in your .

i ad. |

. 5. Make sure that it is 3

I fun and colorful. !

Jpples and rananas EDUCATION



2R W Volume

EEIR C G A4 Represent three~dimensional figures using nets made up of rectangles and triongles, and
use the nets to find the surface area of these figures. Apply these techniques in the context of solving real—
world and mathematical problems.

RIS T con find the volume of rectangular prisms.

(M Test your Multiplication Skills. Time yourself for one minute to see how many you can complete.

1 1] 4 ¥4 L] ¥ F 5 8 4 it 7 i k1] ¥ i 3 3 H

11 X3 %6 n&% =3 i1 x4 %@ %1 = 9 ? xH1i NS & mF =8 l #Z 210 =1 % 2

7 I 12 1 9 & 3 5 i B i 1 9 & 9 8 12 £ 7
;';,Z S w.;ﬁ x4 x i x1 x4 Q’-ﬁ ..:...'E f‘_..,q,. ¥ i ® ¥ 5 * & % 11 w o 5 W 3 W B » 3

2 % | | 5 10 2 1t 8 12 i1

ps : : s i 4 6 i i0 4 3 3 4 8 8
MZ X2 X 222 X7 x6 21 x4 u3 E3 1 %2 25 %1 %12 x7 =9 x# xi x11

e 9 I 3 i 2 i 3 g 10

4 3 x3 x3 x5 »x x5 x3 Xe X3

Hew e Yol fine VOIUnnG?

The volume of a three—dimensional figure is a measure of the amount of space that it

occupies. Volume is measured in cubic units.
P Vokame Of A Hoctangular Prism

Example 1: Find the volume of a rectangular prism.

e of & by 3 50 8 haighe oA 5
Pttty 0 B4 obe wrils,

M Complete Volume of a Rectangular Prism pg. 1

Each locker is shaped like a rectangular prism. Which has
more storoge space? Explain.

. . % ;
10in. 15 in.

BB Complete “Volume of the Building” Activity




Name:

Pge |

(Volume of a Rectangular Prism>

3cm

12cm

5iGIHA

To find the volume of a rectangular prism, multiply the length
by the width by the height.

V=Ixwxh
=% cmat5cm » 12 cri

V=180 cm?®

Calculate the volume of each rectangular prism. Be sure to include units in your answer.

a. b. C.
T —r 8m
4 mm dai 3km
CEqan
&m 3 km
6m
V= V= V=
d. e, f 2 Mz
5 ¢cm P 12 m
5 4 mm
5cm & Cal o -
2m
V: V: V:
(e h. i
1kmgkm 6cm
i 4cm 10m
4cm 10m
V= V= V=

Super Teacher Worksheets - www.superteacherworksheetfs.com




Name:

CVolume of the Building)

Find the volume of the building. Calculate the volume of each building part.
Then add the volumes of the two parts together.

i

M
QQ 9@ 8m
S
& =
10 m QQ @
~ L >
L
Q)
110

~ [l
=

i
—D
—
{—D

13l

Volume of part 1:

X X = m

Volume of part 2:

X X

I
S

Volume of the building:

I
I
3

Super Teacher Worksheets - www.superteacherworksheefs.com




WYt Wl vean and Med an

STANddR d - ASTYR Giving quantitative measures of center (median and/or mean) and variobility (interquartile range and/or mean

absolute deviation), as well as describing any overall pattern and any striking deviations from the overall pattern with reference to the
context in which the data were gothered.

INHAREREE T con find the mean and medion of a dota set .
WaRM Study ALL facts 1-12!

HOW €O : fihe e MGChy

Video for extra support: https://www.youtube.com/watch?v=B1HEzNTGeZ4

Mean
Words The mean of a data set is the sum of the data divided by the
number of data values,

B+5+6+9 28

Numbers Data: 8,5,6,9 Mean: = =7

Voo s 4

\ Pl
* 4 data values —

1dSk Answer the following questions. Show your work.

1. For the past 12 school days, Mai has recorded how long her bus rides to school take in minutes.
The times she recorded are shown in the table. Find the mean of the data.

W
oo
o]
w

10 7 6 12 9 8 10 8

Step 1: Count how many data values there are:
Step 2: Add all of the dota values up:
Step 3: Divide (step 2) + (step 1):

2. Lost week, the daily low tfemperatures for a city, in degrees Celsius, were, 5, 8, 6, 5, 10, 7, and 1.
What was the mean?

3. The three data sets show the number of text messages sent by Jada, Diego, and Lin over &
days. One of the data sets has a mean of 4, one has a mean of 5 and one has a mean of 6.
Jado: Diego:

4| a|4|6|6]|6 % 4] 3 Bap BLLB

Lin:

Which dota set has which mean?




HOW dO & GNE The Mechen?

Video for extra support: https://www.youtube.com/watch?v=B1HEzNTGeZ4

Median

Words Order the data. For a set with an odd number of values, the
median is the middle value. For a set with an even number of
values, the median is the mean of the two middle values.

Numbers Data: 5,8 9, 12, 14 The median is 9.

Data: 2,3,5,7, 10,11

I . The median is > 2 ?r or 6.

i
.

Find the median of each dota set.

1. 20,4,17,8,12,5,5.20,13 2. 100,75, 90, 80, 110, 102

3. Jada ond Diego are practicing the piano for an upcoming rehearsal. The tables list the numbers
of minutes each of them practiced in the past few weeks. Find the median of each dota set.

Jada’s practice times:

10 10 20 15 25 25 8 15 20 20 35 25 40

Diego's practice times:

25 10 15 30 15 20 20 25 30 45

LSk Choose one of the two options.

Option * Complete "Meon and Median Dice Game”

Option . Play the quizizz using the code below. Make sure you use your FIRST AND LAST NAME!

Menhenett: Ask participants to open Howard:  /Askparticipants to open
joinmyquiz.com joinmyquiz.com
and enter this code and enter this code

31888 607677



] - it e -
: “...‘c “.a .’ ’. ‘.'OQ:. w..’ « . -’! ‘.a
s . L} i
. " _ : - EHERR
. Mean &' Medion D& Game
i /
b Roll your two dice eight times and record your rolls below. Each time add your dice to make one
- number. Use the numbers you roll to answer the questions below.
: & i, T Nl N o N N P Y N £ ™y
\, A\ N J \ 2 N VAN N S &
4 Nir N ¢ o g N \N( N N 7 N
: \ o N . e, 58 VAN SN P el <0 y
- Arrange from least to greatest:
- Mean: Median
L]
I N N f N X N\ Nl i, o ks
-
L. U b N J N LN J \ VAN 0 2N <
7 N \N 7 N N NF AN B i )
-
-
-
\. 7 N\ AN . 8 PN 4\ SN J \ 7
Arrange from least to greatest:
*  Mean: Median
-
..
3 N N \ [ N & N\ ™\ N a
‘.
AN N JoN Z N 2 N\ i 57 I N Y
i NT NS N R 5 o 2V N \N 7 3
o N P S\ 7\ J \ AN J \ NG . y
. Arrange from least to greatest:
»
v Meari: Median
[ -
*
-
[
[ R ]
..‘n.‘.'v’}“’i'ﬂ'),‘-.-‘.‘-.‘.“0“...‘-—0_'."’."'.



